ne : 3 Hours)

MLz (1) €35 WsA-iL 8L AV .
(2) B WAl st 2l o wseaedl s34 wilied w3l suldls

. (a)  AsEL 2 w2l 92 dslad 11l

UL

(a) RAZan S=gi-2u adllse sl
(b) A d sl el 2uul :
(1) 2ls AaA-x-t AR sl axendl.

(2) suBlua qu 2ed 32

(3) Aol AR Fyy- sl weual

@) 227 B AR dael weual.

(¢) 2 d sl sl 2l

(1) sl WEaLaess@baeudl.

(2) el oo H2d 4 7
(3) el Rl sSush A ol eur-l suasuo el (SgH2)AL ARt

qul.

NA-103

December-2015
M.Com., Sem.-11l

501 : Investment Management

Seat Nﬁ. - _9_‘610_1

Marks : 70

o

2. (a) s SBadl deAw Ak Guz A el¥d WEs WRRaldw wigriae

Al [Rordl 2 wel ¢ - 7

e By @158l €2 2 d-l Acua-il
s yyglaly | ueuatl wellid €2
Ul 0.1 30%
Eu-q s 0.7 20%
el 0.2 10%

2 98 1R A 49dR €2 E(Rg) Al

AYdl

(@) @294 /. aardl yedls Alnd [@audl 1A e o

i) oBadl R ya-l »ufdd

(i1)

Qg e+l Add [

(i.e. Pgy) 2lal.
NA-103

1

é"-.lrﬂfll aduid REsg-s-l 2% X8 (9.
i) suli-Al [3(a3- e+l suelHi 10% L €2 quRl Wy ©.
st 82 BRSS H3dd 2R R adwid sereyq

suiell-l 20U 2L A+ SBAdl Y& wsdz 16%



(b) A d G-l el 20l :
(1) sieda owr uRseuu Azd o 7
(2) ARl gu-t oll=gn 2ed g 2
(3)  oll-gaid qeuis U andz 3l Ad s 2ud © ?
@) DA Fodl wrell 34l Blasd yeuis {3 (CAPM) i
qQud? €3 Ulkl :
(i) v Ys5d AdR €2 6%

(i) o2l AR 4NdR €2 15%
(iii) O[3l Il olle 3yeu (Bg) 2.4

(c) Ad d il eyl 20y] -
(1)  3I=¢3 als 43
(2) &% deilur
(3) Geala [asdye

gl 91zl SRIET |

3. (@) usifznd weulisoid WSsiRal Nudld HWda umeadl.
WY

(a) ARl (ol ATl 220 Fad 2 Asiia 22ls vaEl-o S-dad @odl

©9. [otdl wia-l a2 i adsuq wndbho 3B 43wl 2udl ©
Aueul [ oellolAAl eua | NSE Wige 5%

e AL Ay AT R 5000

w PRS00 Y5500 B
At AHuAL v @ €2 (Rf) = 6.5% ©. 672 S-3a Y2 Adse
QAR € 16.5% - % @ e
(i) AP AR 1 sl Harer W00 ofl2l el (Bg) aldl.
(i) ofler yeud 28R AN ) 200Rd 9ndR g2 9llel

(b) o d oi-i weuoll 2l 4
(1) a4 Abla S 1\3a ’ LI
- (2)  ulesllual yRad+ '
3) ae{lliZl e w1yl
(4) " Hauid 53 wlslul o dl514eL woyd).

() A ol Fuoll iyl

(1) 6% lslful usdr w2 s 2ud & 2 _ 3
@ RRaRs vy vl 24B2ARs vy 2124 3 2
@) :m'Irl[l e e wud 003 w2 2R quds @ ada Yo

" ageudl. -

4 @ A% WS- el wularerl s 0l 2R quaR €2 s 50%

30% 21 10% 8. Al adR- el Acua- 443 o
WAL 20 992 €2 2l | 487 05,07 M.0.18. W

§Yq
2

7
NA-103



=

(a) &5l dvl : 2aleley wslza 4zl (APT).
(b)y 21 d ol FUAl 2l :
(1) 34l oz 2L (CML)

(2)  CAPML sl '
(3) AEEw-e sleurl
& \

() 56 i widsiul e selelRlHL Grdd 24z swdl
Yol 2l dast »ud 9 ?
(¢) 2 d el el 21l

(1) {leE] awz v (SML) ¢ed 3 ?
(2) CAPM-l weuil
(3) APT R4 slel 2% 4 © 2

5. QA el Bat usl-l A sl ay [@sedl 2ud d A [@seu-l wieall
530 (%32 weud cii detdl uel eauldl) (€35 1 _ 14
|

(1) DA AR A5 Al s eusl add
(@) 2UAGF2 (b
(¢) sBlua dw ) 2wz Dulze

2) A4t U8l suL [seyl sl as{l-a0R 2L 23l A © ?

(@) o3 (e, auBl
(b) OSBadl U2, UsA »31 [Bd, ofllegd

(c) o3l (a4, 2, UsA W
d) 2»% (&4, 3 A, (ol

(3) 92 AR $ Aqdd YyElud O :
(a) i oz witdl o0l e d HRu2 ols-l Aa y3l

' Lol Ay el 2 d Wesl yd wd ©.
ofl=gAl 2002l A eigla Yy il ©.
Guziiell wAsual s,

s oll-o07] W2 Add A8 eBruA HAY AR 2AsH 20%. ~10%, 17%
Al dl @ 2el03] W wag AR qadR A U8 #s wy

(

)

(@ 15.67% (b) 9% () 15% (d)y 17%
5) 2ll-1o03] el A WSl 25 Aendly Atd--Al Alet 2l . :
(@) OBl A2 (b) WS R
¢) bl il (d) a2
3 P.T.O.

NA-103



6)  stfant ooz Fusdneni DA A4 2ls adld el wildd 9 :rl
(a) aoid [asdus (b) AS» ar 2 4R
() =¥ als Ly () suel e

(1) wedda-ll Al WRBakML Qi A5 s ellsd A8 518512 ML . q4,
aletell WRar Wy ¢ : |
(@) fRL gu-t ol (b) uRad-ella eil-s
(@ R Al (d) 5l 22 ol

(8) s AR Wy A Bufid andR »iqsd 50%, 30% i 10% © i eua-dl
AASH 1:7:268 ol AL 2R a0 &2 AL 5l 21 2 |
(@) 30% (b) 27% () 29.5%  (d) 28%,°%"

(9 3lued bz ad (4l o 3 ML) Aol A s34 R W © ?
(@ o 8- (positive) 3vit ©, B s1ollell el suy Gu dRE MA@

(b) d el (negative) 3vit ), B el ozl sl bl WA B
() d anisuoll vy ©. i

(d) d ABRu-2 $RY BAlad [’\:Rfll?.'._ﬁll[& 6.

(10) 12 ﬂ‘JHI s yldsifaul ], 00l Budd 2z s2di s uRe)
Ml d ¢9

.I
E = -
s e iy
e et o (8) o 2%
TR - L) i S B
WEORL o e L W] el S i) L ol s
. . = ‘Tl- " - L ¥ l.--lI 'l 1__‘-:.“'_.."

RBLAEL (APT) (™ 2

) M Bidsd Dt 3 (CAPM)
(© *usilfazy Ny - -

(d) ods i {ad > % ¥ o4 “
(11) N Al 25 e $eabadllszend wulid a3y o) -

(a) AlY 53 | "~ (b) Al 53

(©) old-yg $8 (d) S5 §3
(12) 25ftse (Radmer A U0 As YR Guz wHIRA & -

(@) Bl valazel Rsw ¢ |

(b) _Cictsl-L R eua-l @zel (pattern)d y-2iadH (R

(€ sttt édan Rl 2uRd duls Frefy) 5 é.nma = @

@ OBAd dR-u v eudl W gl uRo) 2R wy B,

(13), 204015 3l oz o, DA A4l 2s Razd Rsud) @ -
W B sl (b) 2% A
e Ry gl d) Y+ 513

(14) Wéslaul datanq), yaoid dq €

(@) sl qelsdl 2 v atrg

() HSAi qurl sl |

(© sl auiRdl »1d Aun walsq

d) SRl wuseR] g213dl

NA-103 ¥ 4



Seat No. :

NA-103

December-2015
M.Com., Sem.-111

S0T : Investment Management

. ' 0'\
Time : 3 Hours| |®

Instructions : (1) Each question carries equal marks.
(2) Please mention the question no. in column which y

. (a) Explain difference between Investment and Speculatio 7

OR

(@) State classification of Derivative Instruments.
(b) Answer any two :
(1)  Explain four functions of Stock Exc
(2) What is Commercial Paper ?
(3) State four regulatory functions o
(4) State four characteristics of
(¢) Answerany two :
(1)° State stages of ln‘
(2) What is Money Ma

(3) Write any two cy market fixed interest instruments.

c
o0

2. (a) The expected ret security under three economic scenario with the
as under : 7

Returns (in %)
30%
20%
10%

ulate the expected return iie. E(Rg).

OR

lowing details related to GGM Ltd.

(i) Cost of capital according to expected return is 16%.

(i) Current years dividend X 8.

(iii) Growth rate 10% '

Calculate the current market price of the equity share under constant dividend
growth model (i.e. Py) ‘

NA-103 S P.T.O.



(b) Answer any two :
(1) What is Efficient Market Hypothesis ?
(2) What are Zero Coupon Bonds ?
(3) How is valuation and returns on bonds done ?

(4) From the following information find out expected return rate on share as per
CAPM :

(1)  Risk free return 6%
(1) Market average return 15%
(i11) Beta of the security (B¢) 2.4

(¢) Detine any two :
(1), Random Walk Theory
(2) Hedge Ratio
(3) Industry Analysis

3. (a) Explain Markowitz’s traditional portfolio theory model.
OR

(a) Following details relate to the security price and the NSE market index between
the base period and the current period aré as under :

I Period ‘ Security Price | NSE Market Inidex

RN wima\Base -, - X400 . 4o 5000
; Current T500 W 5500

Assuming that the risk free rate cf return 1s 6.5% and the average return on
market index is 16.5% '

(1)  Calculate the betaof the security (Bs) under the ‘rise over run’ method.

(11) Calculate /expected return on the security on the basis of beta value
ascertained in above (i)
(b) Describeany two :
(1) _Sharpe’s Single Index Model
(2): Portfolio Diversification
(3) Securities Market Reports
(4) Wnite two disadvantages of mutual fund portfolio

(¢) Answerany two :
(1) Why is construction of optimal portfolio done ?
(2) What is systematic risk and unsystematic risk ?

(3) State formula to ascertain expected return on security under Sharpe’s Single
Index Model. |

4. (a) The expected return on a security under three market conditions are 50%, 30%
and 10% with the respective probability assignment of 0.2, 0.7 and 0.1. Find out
the expected return on the security.

_ OR
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(a)

(b)  Answer any two :

(c)

Write short note on Arbitrage Pricing Theory (APT).

(1)
(2)
(3)

Capital Market Line (CML)
Criticism of CAPM
Efficient Frontiers

(4) In which theory portfolio management takes into account the multiple
factors affecting security prices.

Answer any two :

(1)  What is Security Market Line (SML) ?

(2) Assumptions of CAPM. |

(3)  Who introduced Assets Pricing Theory Model ?

5. In the following sub-questions more than one answers (options) are given, from that

14

select the correct answer (option) (if necessary show caléulations)(ene mark each).

(1) One of the following is not the monetary instrument of money market.
(a) Overdraft e (b) ' TreasuryBill =
(¢) Commercial Paper (d) Cemﬁcaie of Deposus

(2) From the following in which option mund“y market ée:cuntles are mcluded ?
(a) Treasury Bill, Commercial Bill, Commercial Paper, Certificate of Deposits.
(b) Equity Shares, Preference Shares, Treasury Bill, Bonds
(¢c) Treasury Bill, Bonds, Equity Shares, Preference Shares.
(d) Treasury Bills, Bonds, Eqmty Shares, Debentures

(3) The stock exchange pruwdeu one of the following facility : *
(a) It works.as merchant banker for the issue of securities in a primary market.
(b) It provides a trading platform for dealing in outstanding listed securities.
(c) Itprovides funds against the pledge of shares and bonds put as security.
(d) < None of the above

(4)._ The average returns of a share providing returns for three consecutive years as
20%, =10%; 17% is one of the following :
(@ 15.67% - (b) 9%
(c)> 15% d) 17%

(5) The market of securities does not provide the market for one nf the following :
(a) Equity shares (b) Preference shares
(c) Insurance policies (d) Warrants

(6) The efﬁcient.market analysis is also known as one of the following :
(a) Fundamental Analysis (b) - Rise over run theory
(¢) Random walk theory (d) - None of these

NA-103
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(7)

(8)

(9)

Under the high inflation rate economy, one of the following bond investment 1S
preferable to investor :

(a) Zero coupon bond (b) Convertible bond

(c) Bearer bond (d) Floating rate bond

In three conditions one of the particular share return is 50%, 30% and 10%
respectively and probability is 1 : 7 : 2, then what will be the expected rate of
return from the following ?

(a) 30% (b) 27%

() 29.5% (d) 28%

One of the following statement is true about the Capital Market Line (CML)
(a) It is a positive straight line which rises from left to right.

(b) Itis a negative line which falls right to left.

(c) Itisa curvilinear line.

(d) It defines the feasible region of efficient frontier.

(10) One of the following theories of the portfolio management takes into account the

multiple factors affecting the security prices :
(a) Arbitrage Pricing Theory (APT)

i ..,-(b):, Capltal Asset Pricing Model (CAPM)

tkowitz Theory ~ <° &~

(d) Black-Schnlaﬁ Mode.l »

(11) One of the fnllﬂw:ng 1: not a poﬁiiﬁfit‘:lassiﬁcatinn of mutual funds :

(a) Growth fund (b) Chit fund
(c) Balanced fund ' (d) Income fund

(12) Technical Analysis is based on one of the following :

(a) The economic environment shows growth trend

(b) Thepast behaviour of the equity share repeat

(¢). Theinvestors always make rational judgement based on information.
(d) - The equity share price depends on several variables.

(13) The modern capital market theory was developed by one of the fﬂllnwmg

‘contributors : .
(a) © Markowitz (b) Stephen Ross
(c) William Sharpe _ (d) Eugene Fama

(14) Fundamental objective of portfolio management is

NA-103

(a) To decrease earning and to increase risk
(b) To increase in capital

(¢) To increase earning and to decrease risk

(d) To reduce income tax liabilities




